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21 ARRTFETERESREL
GRS = AR R CRiNZE
105.01.29~ | 105.02.27~ | 105.03.06~ | 105.04.15~. | 105.05.16~ | 105.06.10~ | 105.01.28~. | 105.02.28~ | 105.03.10~ | 105.04.11~. | 105.05.18~ | 105.06.13~ | % F & &3
iR3E P 105.01.30 | 105.02.28 | 105.03.07 | 105.04.16 | 105.05.17 | 105.06.11 | 105.01.29 | 105.02.29 | 105.03.11 | 105.04.12 | 105.05.19 | 105.06.14
SO, R L 0.018 0.016 0.016 0.008 0.015 0.008 0.010 0.020 0.012 0.009 0.008 0.004 0.25
(ppm) pTiaiE 0.008 0.007 0.007 0.003 0.006 0.002 0.006 0.009 0.006 0.004 0.002 0.003 0.1
NO, B T E 0.042 0.048 0.018 0.028 0.045 0.022 0.058 0.049 0.081 0.053 0.037 0.031 0.25
(ppm) e 0.034 0.032 0.010 0.013 0.030 0.010 0.033 0.031 0.039 0.031 0.021 0.014 —
NO R L = 0.034 0.009 0.007 0.008 0.008 0.004 0.024 0.010 0.030 0.008 0.005 0.009 —
(ppm) pTiaiE 0.015 0.004 0.003 0.004 0.002 0.001 0.010 0.004 0.012 0.004 0.002 0.003 —
Cco £ 4 L aE 1.2 0.8 1.0 0.8 0.5 0.9 1.6 1.4 1.6 1.0 0.9 0.3 35
(ppm) B4 8 | ETEE 0.8 0.6 0.8 0.5 0.4 0.4 0.9 0.9 1.0 0.6 0.4 0.2 9
0; D L = 0.027 0.051 0.048 0.056 0.046 0.040 0.027 0.054 0.032 0.046 0.056 0.035 0.12
(ppm) Bk 8 ] ETE 0.012 0.034 0.039 0.041 0.033 0.034 0.013 0.038 0.018 0.033 0.044 0.030 0.06
NMHC(ppm) pTioiE 1.0 1.4 0.3 0.4 0.3 0.2 1.2 0.6 0.3 0.5 0.2 0.4 —
TSP3 24 | pEE 63 165 192 93 114 92 140 153 80 95 101 69 250
(ng/m’)
(ig]\frg’}) & Dzj Tjﬂi_@ 33 78 81 46 61 49 69 84 41 48 59 34 125
PNhé 24 ] pE B — 50 — — 9 — — 35 — — 17 35
(ng/m’)
ﬁkg 24 ) pE & <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 —
(ng/m’)
* s 24 ] BB <0.1 <01 <01 <0.1 <0.1 <0.1 <0.1 <01 <01 <0.1 <0.1 <0.1 —
(ng/m’)
= 3 24 | pEE <0.1 <0.1 <0.1 <0.1 <0.1 N.D. <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 —
(pg/m’)
& 3 24 ] pE & <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 —
(ng/m’)
45 (ug/m’) 24 ) pFiE <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 —
@ i (ug/m’) 24 ) pE & 1.82 5.21 5.85 6.82 4.24 21.8 5.68 9.99 2.82 2.26 4.99 5.97 —
AL B # @ A & # % 3 # # # L LS LA —
R i# (M/S) pEISE 0.8 0.8 1.1 0.8 1.8 1.4 0.7 13 0.7 0.8 1.1 1.1 —
& 24 )R
2R (O ETC 21.2 20.3 28.4 27.3 27.1 26.0 26.8 23.0 23.5 25.7 28.2 27.1 —
WHHIBE (%) pLiap 83 78 84 78 72 83 85 70 75 80 66 78 —
AR g/m?/? 8.9 8.9 8.7 8.3 8.2 8.0 8.9 8.2 8.0 7.8 8.0 7.8 —
LR E GGG FARI0LES Y 14p FRRBEEFEFRTZFF 1010038913 5L v 2 T2 5 S FRE -

2.4 R B 32 2 i p4R L (MDL) 2 N.D.% 7+
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+ sl vl 2 5 © G -1 I8 N 5 B (4
% 1 %' Bl S F e ?ﬁ—i P - % 7 E—z\' (é‘)
Bk LA R LRE B HRE
105.01.28~ | 105.02.25~ | 105.03.05~ | 105.04.13~. | 105.05.14~ | 105.06.08~ | 105.01.28~ | 105.02.26~ | 105.03.07~ | 105.04.14~. | 105.05.15~ | 105.06.09~ | % § & F &2
=Rl p 105.01.29 | 105.02.26 | 105.03.06 | 105.04.14 | 105.05.15 | 105.06.09 | 105.01.29 | 105.02.27 | 105.03.08 | 105.04.15 | 105.05.16 | 105.06.10
SO, B ETE 0.007 0.018 0.006 0.004 0.006 0.004 0.010 0.013 0.009 0.006 0.011 0.016 0.25
(ppm) FEEE 0.003 0.007 0.002 0.002 0.002 0.002 0.004 0.008 0.005 0.004 0.006 0.005 0.1
NO, R L = 0.048 0.043 0.024 0.049 0.043 0.019 0.056 0.052 0.027 0.038 0.036 0.014 0.25
(ppm) pTiaiE 0.028 0.029 0.013 0.020 0.024 0.008 0.031 0.036 0.020 0.023 0.021 0.008 —
NO B ETE 0.010 0.013 0.010 0.008 0.005 0.003 0.009 0.007 0.005 0.004 0.006 0.004 —
(ppm) FEEE 0.003 0.004 0.006 0.003 0.001 0.001 0.004 0.004 0.003 0.002 0.001 0.002 —
Cco R L = 1.0 1.2 1.2 1.5 0.7 0.8 0.9 0.8 1.1 0.8 0.7 0.7 35
(ppm) 548 pEImE 0.7 0.8 0.8 0.9 0.2 0.3 0.5 0.6 0.7 0.7 0.3 0.3 9
0; B ETE 0.039 0.063 0.065 0.049 0.033 0.045 0.052 0.040 0.042 0.052 0.051 0.038 0.12
(ppm) £ 4 8 | pETHE 0.023 0.058 0.050 0.030 0.028 0.030 0.037 0.033 0.040 0.042 0.028 0.029 0.06
NMHC(ppm) pTiaE 0.4 0.3. 0.2 0.4 0.2 0.1 0.2 0.4 0.2 0.4 0.4 0.6 —
TSP3 24 ) pEE 110 153 152 100 73 76 100 155 143 84 95 75 250
(pg/m’)
PMyo =l
(ngm) PN 50 70 71 53 38 36 46 78 64 43 45 48 125
PM, 5 .
24 ] pEiE — — 55 — — 6 — — 30 — — 4 35
(ug/m’) :
5*3 24 ) pE & <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 —
(pg/m’)
x 3 24 ) pE & <0.1 <01 <01 <0.1 <0.1 <0.1 <0.1 <01 <01 <0.1 <0.1 <0.1 —
(pg/m’)
=]
* s 24 ] pE & <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 N.D. —
(ng/m’)
& s 24 ) pE & <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 —
(pg/m’)
4 (ug/m’) 24 | pF & <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 N.D. —
# > (ug/m?) 24 ] FEE 16.4 9.88 5.13 13.1 7.97 422 2.46 6.83 6.80 6.76 497 4.11 —
BAE R LA AN E o # 3 LA & A F % 3 LA L ] ek —
pTiaE
i# _
B i (M/S) &4 [ 22 0.6 0.8 0.5 15 0.8 1.6 0.9 0.5 1.1 12 12
BR (O FEE = 21.6 20.4 24.8 253 28.0 28.2 20.4 20.6 25.7 25.4 29.4 27.9 —
ERE (%) p s 81 74 79 79 74 87 81 73 88 83 76 87 —
EAR g/m?/ " 8.6 8.6 8.2 75 7.5 7.6 8.5 8.8 8.4 8.3 7.7 7.5 —
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%2 EplabrEF T RIREREL
H i~ : dB(A)
IR - =Rl Leg Linax L, L L« 4% 2w
, 105.03.06~07 | 52.4 77.6 53.5 522 | 493 )
At d R AR AR
105.06.01~02 | 53.4 74.4 54.8 519 | 495
i EEE — — 75 70 65 —
105.03.06~07 | 54.1 79.8 55.9 500 | 475
B ARR)
105.06.04~05 | 57.7 97.3 59.9 502 | 463
105.03.07~08 | 56.1 83.3 57.9 53.5 49.1 |
GRS AR
105.06.03~04 | 54.8 88.0 56.7 | 45.8 48.7
, 105.03.07~08 | 52.1 78.4 53.7 | 496 | 46.7
bR
105.06.02~03 | 51.0 75.1 52.4 | 488 472
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23 LRHEHTREFREL
Bifir © dB
Pl L ﬁ- SRl P E Lyeq Lymax Lyios Lyio = ? T
, 105.03.06~07|  42.8 57.0 44.3 39.1 A
rEFIRIEP P AR
105.06.01~02| 383 81.4 39.1 36.9
PR RANE S E — — 70 65 —
105.03.06~07| 449 56.0 46.2 422
B
105.06.04~05|  45.6 55.9 46.7 43.7
105.03.07~08|  39.7 60.8 41.1 36.2 3
LRI - A
105.06.03~04| 312 79.3 31.9 30.0
, 105.03.07~08|  34.4 63.5 35.6 32.2
B
105.06.02~03|  30.0 69.9 30.0 30.0
PR RANE S E — — 65 60 —
AOLPREPN G RES DT FEE G5 TP AL LTRSS RAIAE -

2.Lys ¢ 05:00~19:00 » Ly = : 19:00~00:00 % 00:00~05:00
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o4 EplrEtOERRE T REEFRE L
¥ i+ @ dB(A)
B = %6— Eplp E L LF L % LF L % LF
) 105.03.06~07 43.7 43.3 38.8
Ryt d R
105.06.01~02 43.2 41.8 38.7
105.03.06~07 43.8 42.5 38.6
GRS
105.06.04~05 43.6 42.5 373
105.03.07~08 43.4 40.5 38.4
BAkm
105.06.03~04 43.2 42.7 38.5
, 105.03.07~08 43.7 42.6 37.6
BRI
105.06.02~03 43.3 42.0 38.1
L fes% > 2 1 NIEAP205.92C -
LEI ,LF
0 EPEE RS S By R ERER 5 R
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% 40 -
30 A
20 A
10 4
0 4
105Q1 105Q2
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25 LREHABLATIRS*:REL
105Q1
o ]i’?““‘}" A: | A | A. | B. | B | B. | Cc. | Cc | ca ?j;;i
pH 8.1 8.1 8.1 8.2 8.1 8.1 8.1 8.1 8.1 7.5~8.5
KE(C) 278 | 278 278 | 279 | 278 278 | 278 | 278 27.7 —
R o 52 53 52 5.3 5.3 52 5.3 52 5.1 >5.0
T F 2.6 22 2.1 2.4 22 2.4 1.8 1.5 1.2 —
BE 34.1 342 | 342 34.1 34.1 342 342 | 342 342 —
P A (m) 1.1 1.1 1.1 12 12 12 1.1 1.1 1.1 —
AL <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <3.0
tETFE | 102 5.7 9.8 10.7 9.6 10.8 | 221 9.3 112 —
& Bk 0.013 | 0.023 | 0.014 | 0.014 | 0.015 | 0.016 | 0.012 | 0.016 | 0.008 -
& F 0.14 | 017 | 0.16 0.09 | 0.10 | 0.12 0.12 0.11 0.12 -
2% 0.27 0.25 0.26 0.09 0.10 0.08 0.08 0.10 0.09 —
E RS 1 0.06 | 0.07 | 0.07 0.07 | 006 | 0.07 0.08 0.08 0.10 —
A 0.32 0.35 0.35 0.07 0.12 | 024 | 0.12 0.11 | ND. —
I AL 0.04 | 0.05 0.04 0.02 | <0.02 | <0.02 | 0.02 | <0.02 | 0.02 —
R <1.0 | <1.0 | <1.0 | <1.0 | <10 | <10 | <10 | <10 | <10 2.0
E N ND. | ND. | ND. | ND. | ND. | ND. | ND. | ND. | ND. 0.01
(SFE/*f‘O?E) <10 | <10 | <10 | <10 | 25 | <10 | 20 25 30 -
b <0.002 | <0.002 | <0.002 | <0.002 | <0.002 | <0.002 | <0.002 | <0.002 | <0.002 |  0.05
& ND. | ND. | ND. | ND. | ND. | ND. | ND. | ND. | ND. 0.010
4 <0.005 | <0.005 | <0.005 | <0.005 | <0.005 | <0.005 | <0.005 | <0.005 | <0.005 | 0.050
A ND. | ND. | ND. | ND. | ND. | ND. | ND. | ND. | ND. 0.002
4 0.0005 | 0.0005 | 0.0006 | N.D. | ND. | ND. | ND. | ND. | ND. 0.030
& 0.0005 | 0.0005 | 0.0006 | N.D. | ND. | ND. | ND. | ND. | ND. —
& ND. | ND. | ND. | ND. | ND. | ND. | ND. | ND. | ND. 0.100
& 0.0022 | 0.0023 | 0.0022 | 0.0023 | 0.0022 | 0.0024 | 0.0020 | 0.0020 | 0.0020 | 0.500
#% | ND. | ND. | ND. | ND. | ND. | ND. | ND. | ND. | ND. —
,| &8# | ND. | ND. | ND. | ND. | ND. | ND. | ND. | ND. | ND. —
e i+ | ND. | ND. | ND. | ND. | ND. | ND. | ND. | ND. | ND. —
i 4 | ND. | ND. | ND. | ND. | ND. | ND. | ND. | ND. | ND. —
" M #74> | <0.005 | <0.005 | <0.005 | <0.005 | <0.005 | <0.005 | <0.005 | <0.005 | <0.005 -
- &+ | ND. | ND. | ND. | ND. | ND. | ND. | ND. | ND. | ND. —

EULERE GG FARI0 E 120 26 pRF-kF F 0081750 5L 2 2

i
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TABRBBEAEE BERE ST

o




105Q2
oo S‘“‘L A: | A | A. | B. | B | B. | Cc. | Cc | ca ?j;;i
pH 8.2 8.2 8.2 8.2 8.2 8.2 8.2 8.2 8.2 7.5~8.5
ki (C) 309 | 308 | 307 | 310 | 309 | 309 | 311 31.0 | 309 —
R o 5.5 53 5.1 5.5 5.4 52 5.5 5.3 5.1 >5.0
At 2.3 2.3 22 1.4 1.4 1.4 12 <1.0 1.4 —
BE 339 | 340 | 340 | 340 | 340 | 341 340 | 34.1 34.1 —
# P A (m) 1.3 1.3 1.3 1.1 1.1 1.1 1.3 1.3 1.3 —
ERE-AE I 1.7 2.3 1.7 1.7 1.8 2.0 2.0 2.8 2.8 <3.0
A X1 6.7 8.0 9.5 10.1 7.1 7.0 9.4 8.5 11.1 -
Ky 0.022 | 0.030 | 0.040 | 0.028 | 0.026 | 0.022 | 0.021 | 0.017 | 0.021 —
&F 0.19 | 027 | 019 | 025 048 | 028 | 016 | 017 | 0.16 —
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